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i L. Write the first ﬁve terms of the sequence where g, =3 and g, =a (n+ 1.
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What is the most apparent nth term of this sequence (assume ﬂnat n begms with 1):

jthnretic sequence Find each sum.
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o :"-_:'-'whose sucth — is 54'7

16 '. Flnd the sum of the first twelve terms of the geometmo sequence whose ﬁrst three
0 terms are 240, -120, 60,.. .

11 Find the sum: -~ -

A .theétér has 43 seats in the back row, 41 in the next, 39 in the next, and so on for (

14 rows. How many seats are in the theater?

A__ 2 a = q,=Y3~ ~(H-D =17
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The first three terms of a geometric sequence are —16, 8, —4 ..... _
Write a rule that deﬁngs the sequence. - ;12’ - q\:.?%‘hg_' ..
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Worksheet 9.1-9.3 : Name

Date : Period
a,= a,+{n-1\d o |
a,=dn+c, c=a,—d o Ca,=ap™
- M ‘ ' 1—#" a

9 ( 1 ;'1) ) - 1( 1—p J 1—p
I Write the first five terms of the sequence where ¢, =3 and a,,, = a,{n+1).
2. ‘What is the most apparent nth term of this sequence (assume that » begins with 1):
B . a) - 153513_9' b) lp—isgﬁgl‘ép""
357 2" 345
3, Use sigma notation to write the given sum (assume » begins with 1):
20408 o0 64
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39 27 729
4, Write in expanded form and then find the sum:
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a) Z; - b Zx(x41)(x—2)
. n=1 o : x=1 ’
5. The addends are terms of an arithmetic sequence. Find each sum.

a) 36 terms of 21v2 +18+2 +15v2+....

b) mZ+Ind+In8+.. +nl(24
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11.

E A théater has 43 seats in the back row, 41 in the next, 39 in the next, and so on for

14 rows. How many seats are in the theater?

The first three terms of a geometric sequence are —16, -8, —4,. ...
Write a rule that defines the sequence.

Find the fourth term of the geometric sequence whose ﬁrst term is 4 and whose

sixth term s — —2%% .

. . N ] . . . ] 2
What is the common ratio of a geometric sequence whose second term is 3 and

whose sixth term is 549

Find the sum of the first twelve terms of the geometric sequence whose first three
terms are 240, 120 60,....  (Use a formula).

’ © 2 n-1
Find the sum: g(m)




